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Note : Four possible answers A, B, C and D to each question are given. The choice which you think is correct,
fill that circle in front of that question with Marker or Pen ink in the answer-book. Cutting or filling
two or more circles will result in zero mark in that question.
D C B A Questions / = Ul¥ F-y.
g : x4l I-1
; V & ; ‘?’i-“-’ - e e =
& o A Ao (x-1)(x+2)
Aponstant An identity A imp TOPEL 1 A proper fraction x3+1 3
term fraction el
(x=1)(x+2)
secant ¥_/i» | tangentéc_jis | cosine ¥ /iy sl L unS 7 1608 LE I 3L 2
. &
Secant of a Tangent of a Cosine of a Sire of o ciiel A line which has two points in gommon with
circle circle circle MRl a circle is called :
[ b ETA s ol :{_.dlk'( 4 Sy (u_tz.?c'_..u.../(_,ﬂﬂ}’o/ 3
Mean Harmonic mean Median Mode '51;?;2215 tisﬁ:; I.L%nt:occurrmg ahseryabion i
u”z l,f’l Lf’3 9’4 i Q-JKU‘ELJIUL@;U(}PJ/L'jéé_;l)\_g 4
: : : : The length of the diameter of a circle is
2 times 1 time 3 times 4 times lowsmany times the radius of the circle :
u,?zé.)éii./rgj’f.:«btf&uu >
4 3 2 | The number of methods to solve a
quadratic equation is :
e bl erm L {1,2,3 } |0
2 8 6 4 The number of elements in power set
§1,2,3}lis :
Je 54 2 oLl Through how :‘Lt'J;C...LE;Uh?/:; oty 7
F o'ur Three D | e many non-collinear points can a circle pass:
02 3 g L x4 x5 15K 8
4 3 | Find x in proportion4 :x::5:15 :
— ) " 5 :;.t‘n---.:;i}dfffkj._éﬂj&;fb ?
360 270 180 90 The semi circuinference and the diameter of a
circle both subtend a central angle of :
If Ac B,then ANB isequalto :
o .0 -0 Lo 1, -1 b il o8 | 1
Two square roots of unity are :
. 1 k s 1 o2 1 12
y?=kx’ yZ:x2 y2=—‘ y2=—? If y* o« — ,then : W y® o€ — i
b % X X
Ay KUl 1) el KU, : .M‘a‘-nf.‘;ﬁo)g I3
Data Circles Rectangles Squares A histogram is a set of adjacent :
2 : r"—d"dl A L - 1 14
e D —1.— @ —1,0,~0> -, -0, e
L-o-0 ko= ik Cube roots of — 1 are :
1 =1 0 tan 0 cosec?f—cot’ 0 =————: 13
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12 2. Write short answers to any SIX (6) questions : o - T 4 /" L =iy (6){:..(3/ 2

(i) Define reciprocal equation. Ay I (bl @
2
(i1) Solve : (2x - -;—) =§- AV C1))
(ii)) Solve : Bx?+x-4f3=0 s g2 S Gid

34 7x-13=0 Zfes Ui n et (V)

(iv) Discuss the nature of roots of equation 3x? +7x~13=0

(v) Find wz,if{()=:—l-i-2—~—:——§~ ér:b"‘m ﬂf{z)~_-1+" f! v)
-1,-7 é...f!sl,f(ﬂ):::dlsgf?,a;z;.; (vi)
(vi) Write the quadratic equation having roots : —1,-7

_ér:h”JJx sUrsly 25/ 3x81:6+4x u""’fl (vib)
(vii) If the ratios 3x+1:6+4x and 2 : 5 are equal, find the vale ofix.

-nb=8 ,l-/’é"’_’:r:h"a eb=42a=3 sl aocbil2 (viii)

(vil) a«x 2 and @ = 3 when b =4 , find a when.b =8

b2
(ix) Find a mean proportional betweengx”& y%, i~ 44 -éfr:‘” «...-/iledL/:x = Y (ix)
X+ " T x+y
12 3. Write short answers to any, SIX (6) questions : : o =R L ey (6){;..33( 3
(i) Define a rational fraction: S @
(i1) Resolve into pastial fractions : _ @=11 : ég}:.jf S’z i)
(x=4)(x+3)
(iii) State De Morgan’s laws. s LS Gibd

EF XY Y {2,459} < X ={1,4,7,9) S Gv)

(v) L X=81,47,9) . Y ={2,4,59},thenfind X NY
Z#B-AJr B=WA=NJI )
(v) If'A=N, B=W, then find B— A.

(vi) Find @ and b if (3-2a,b-1)=(a-7,2b+5) Jige boa (VD
(vi) Define mode. Ey S de (Vi)
(viii) What is a histogram? el L5 (viid)
(ix) Define standard deviation. EE A A (X
12 4. Write short answers to any SIX (6) questions : oL AT /"? L =y (6)‘3:..(;)/ 4
(1) Define ratio and give one example. -é:dlﬁ*@;slfé_@f"JM 6);
(ii) Find the third proportional to 28 and 4. b A28 54 (i)

_EL Ut 8" M D% 3158 (i)
(ii1) Express 315.18° into D°, M’ and S” form.

(Ai3ss)



©))
4. (iv) Convert ‘%r into degree. ‘m -6 z-u _".&‘:J“j;'ufd/fif% Gv) -4

(V) Prove that : (1-sin?@)(1 + tan’ @) = | L B (V)
(vi) Find &,when (=4Sm,r=25m  r=25m«l=45m JSZr 0 (vi)
(vil) Express the angle into radian : 135° LSS (viD)

_ZEeP msB Jx c=8cm sib=15cm «a=17cm % AABC I (viii)
(viil)) Ina AABC,a=17cm,b=15cm andc=8 cm, find m~£B
G S 104 T3 LSS (%)
(ix) Divide an arc of any length into four equal parts.
(PART -1I #50.2)
Note : Attempt THREE questions in all. -q_dﬂl 9 /Jlrug _éagl.zé.:.mrcf J 1L
But question No.9 is Compulsory.
4 5. (@) Solve the equation by completing square : : 2= f ;.d/J-'.; 2d (D) 5
7x%+2x-1=0
4 L x* 4207 -13x% - 14x+24=0 el -4 w3 SEZS L& R0 ()
...Uﬁ'uju
(b) Solve by using synthetic division, if 3 and -4 areffierodts of the
equation x* +2x* —-13x% - 14x+24 =0

4 . X = 3_yZ /F X"‘3}’_x+32 '2:‘":(!1”5“.&26'_- &(JM.’}J}/ (D) 6

y—z x+3y x-3z

x—3y _x+3z

6. (a) Using theorem of componendo-dividendo fifid the value of :
¥+3y zx=3z

I el
NMr=Z
2 5
4 (b) Resolve into partiglfractions : l—Jr?zxiLL— T AT PN (<)
(x +2)% (x+3)
4 NAENIS,5,7,9}1 . U={1,2,3,4,5,6,7,8,9,10} J1 ()) .7

(A-BY =A'UB &ttt Jx B=1{1,4,7,10}
7. (a) I I=01,2,3,4,5,6,7,8,9,10} ,A={1,3,5,7,9},B={1,4,7,10 },
thénprove that (4-B) =4"UB
_EE B A1 e ¢ 11500, 12400, 15000, 14500, 14800 Lt (egr D7 Sostily, (&)
(b)  Find the standard deviation of five teachers’ salaries in rupees :
11500, 12400, 15000, 14500, 14800

4 8. (a) Provethat : 1+an€—l_s.m(9=4tan6‘sect9 (et (D)) .8
1-sin@ 1+sind ’

4 -gJVu"!G’ Lt‘ﬂjﬁ'fﬁ J‘GJL{»K)‘T/ 501)'!_?:_.//%3{/»&.I;Jl.ufz.4 (...:,)

(b) Draw two equal circles of each radius 2.4 cm. If the distance between
their centres is 6 cm, then draw their transverse tangents.

8 _‘Lt‘)’c')}i{_/-ﬂbﬂwjé_/r»_i;‘;J()1'.'«)’;12 )/":u/c..f/ié.)'l: 9
9. A straight line drawn from the centre of a circle to bisect a chord ( which is

not a diameter ) is perpendicular to the chord.
OR L
-Q}"Lﬁ{i/_uﬁdy’uuufuccgflu;ﬁd:/joj
Two tangents drawn to a circle from a point outside it, are equal in length.
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